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All questions are compulsory .
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This question paper has four Units - I, II, IIT and IV . It is compulsory to
answer all the questions of all the Units.

Unit - I (History)

Unit - II (Geography)

Unit - IIT (Civics)

Unit - IV (Economics)
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This question paper consists of 40 question and every question
corriez two marks.
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Four options are given for each question out of which only one
answer is correct. Choose the correct option and indicate it by
blackening the appropriate circle in the answer sheet (OMR)
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Who was Napoleon Bonaparte.
(A) Emperor of Germany

(B) Emperor of France

(C) Emperor of Russia

(D) Emperor of England
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What is the event of the fall of jar sahi in 1917 ?
(A) February revolution

(B) Bloody Sunday

(C) October revolution

(D) March revolution
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Who was lenin ?

(A) Leader of the Bolshevik Party

(B) Leader of the interim government.
(C) Mansevic Party leader

(D) Moderate party leader
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Which countries were in the Allies ?
(A) Germany, Italy, Japan

(B) Britain, Germany, Italy

(C) Britain, France, Russia

(D) France, Germany, Japan
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In 1600, how much of India's total land was under agriculture ?
(A) Sixth part
(B) Fifth part
(C) Fourth part
(D) Third part
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When did Indian Forest service started ?
(A) 1863
(B) 1865
(C) 1864
(D) 1866
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What is Bhabar ?

(A) Grassland on high mountain
(B) Coastal plain
(C) Dry forest area in mountainous areas
(D) None of the obove
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What is commons ?
(A) Common land
(B) Common forest
(C) Common Industry
(D) None of the above
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What is the length of a cricket pitch ?
(A) 22 yards
(B) 26 yards
(C) 24 yards
(D) None of the above
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When did the indigenous movement in India ?
(A) 1903
(B) 1904
(C) 1905
(D) 1906
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Unit - II (Geography)
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Uttarakhand, Uttar Pradesh, Bihar, West Bengal and Sikkim have
(A) China (B) Bhutan (C) Nepal (D) Myanmar
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The western coastal strip, south of Goa is referred to AS.
(A) Coromandal (B)Kannad (C) Konkan (D) Northern Sarkar
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The river narmada has its source at:

(A) Satpura (B)Amarkantak  (C) Brahmagiri (D) Slopes of the
western Ghats
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Which one of the following causes rainfall during winters in north-western part
of India :

(A) Cyclonic (B)western (C) Retreating (D) Southwest
depression disturbances monsoon monsoon
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Cinchona trees are found in the areas of rainfall more than :

(a) 100 cm (b) 70 cm (c)50 cm 50 cm
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A large proportion of children in a population in a result of -

(A) high birth (B)high death (C) high life (D) more

rates rates expectancies married couples
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If you intend to visit Kavarati during your summer vacations, which one of the
folowing union ternitories of India you will be going to-

(A) Puducherry (B)Lakshadweep (C)Andaman (D) Daman and Diu
and Nicobar
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The highest peak in the eastern Ghats is -
(A) Anai Mudi  (B)Mahendragiri (C) Kanchenjunga (D) khasi
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Which one of the following lakes is a salt water lake ?
(A) Sambhar (B)Wular (C) Dal (D) Gobind Sagar
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Monsoon arrives in India approximately in -
(A) Early May (B)Early June (C) Eary July (D) Early August
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Who was the founder leader of the socialist party of chile.
(A) Salvador Allende
(B) Pinochet
(C) Michelle Bachelet
(D) Lech walesa
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Nkrumah became the first president of which country -
(A) Poland
(B) Ghana
(C) South Africa
(D) Nepal
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Which of these is not a democratic method
(A) Filling a case in the courts claiming that water is part of right to life.
(B) Boycotting the next elections to give a massage to all parties
(C) Organisation public meetings against government's policies
(D) Paying money to government's officials to get water
T 24 W 9 B e o —
(®) S0 o= TR
(@) 310 o 3RO FFTHY
() 10 TMHR AT
(&) =10 0 Po & HA™
The president of the constituent Assembly was -
(A) Dr. Rajendra Prasad
(B) Dr. B.R. Ambedkar
(C)Dr. Zakir Hussain
(D) Dr. A.P.J Kalam
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Which of these was the most salient under lying conflict in the making of a
(A) Between South Africa and its neighbours.
(B) Between Men and women.
(C)Between the white majority and the black minority

(D) Between the coloured minority and the black majority
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Which of these is not a good reason to say that Indian elections are democratic -
(A) India has the largest number of voters in the world.
(B) India's Election Commission is very powerful.
(C) In India, every one above the age of 18 has a right to vote

(D) In India, the losing parties aceept the electoral verdict
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Who act as the guardian of the Fundamental Rights -
(A) The Indian Judiciary
(B) The Parliament
(C) The President of India
(D) The Prime Minister of India
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The power have to interpret the constitution of the country.
(A) The Supreme court and the High Courts.
(B) The President
(O)Indian Parliament
(D) The Prime Minister
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How many types of Fundamental Rights have been provided to the citizens in
the Indian Constitution
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When is World Human Rights Day celebrated.
(A) 10 January

(B) 10 October

(C) 10 December

(D) 10 February
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Unit - IV (Economics)
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Which is the largest village near to palampur -

(A) Shahpur (B) Raighanj (C) Rampur (D) Bharatpur
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Where did the frist Modern agricultiure in india Started -
(A) Punjab, Haryana, Uttar Pradesh

(B) Madhya Pradesh, Gujrat, Rajasthan

(C) Chhattisgarh, Odisha, West Bengal

(D) Jharkhand, Bihar, Chhattisgarh
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In which weather did 'Kharif crops' grown -
(A) Summer (B)Rainey (C) Winter (D) Spring Season
Season Season Season
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Which factor increase the quality of population ?
(A) Literacy rate (B)Public Health (C)Skill builing (D) All of above
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Majar reason for rise in upemployment in India -

(aA) Illiteracy  (B) Illness (C) Poverty (D) All of above
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Write the Full Form of N.S.S.0

(A) National rural Employment Guarantee Act

(B) National Sample Survey Organisation

(C) National Food for work programme

(D) Swarnajayanti Gram Swarozgar yajana
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How Many Methods are there to determine poverty Line ?
(A)3 (B) 4 )2 D)1
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Odisha and Bihar Poverty Ratio is -
(A) Respectively 47 and 43 %

(B) Respectively 50 and 75 %

(C) Respectively 41 and 39 %
(D) Respectively 25 and 60 %
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What is "Buffer Stock" ?
(A) Store of grains stock by government.
(B) Store of grains stock by poor peaple.
(C) Store of grains stock by rich peaple.
(D) Store of grains stock by businessman.
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Which is the Food - insecure category ?
(a) Landless Labours.
(b) Traditional Craftman, Workman
(c ) Destitule and Beggar
(d) All of above
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